-. SeoulTech UC
: Ubiquitous Computing & “ecurity Laboratory

ISEOULTECH
c==1e2[{2 204
&g 01
2= Xt
2D 28 YTU0 C ZRIYY, SAS



Printf 2t puts

» Gl AL

¥include =stdio.h=

int maing)

d

printfi “Hello Evervbodytin™);

putsi " 1@gdtn” 3,

printfl “fdtin”, 1234

putsf "PFE ot 7 Hin
printfi " id £diin”,

"
10, 200

putsi "= 5 S ol obd = 80" ).

return 0.
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Odl AiI2

{

ginclude «stdino.h=

int maint )

printf

(“#"Hello Everybodyd"#n”);
printf({ "2l

.

.

Mt A et e 2 Hn" ),
A SHatin” ),
‘BT SRR,

prlntf

return 0.
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» GIAI3

PG

Fx
HEZ: Hello world =257
Nsr 2ANE &H
SET EL S

+f

#include =stdio.h> S/8l{ oY A

int main{ AimainZhg 2 A S
d
s
of £+ WHM= stLte 2AEE == E0H
TrHE= EUHBHE EETHLE.

*

printf("c T2 JefU4n )y SAEAEe =
return 0; F/02] dHhE
Yoo SmaingEtE e B




Int XI2&

» Gl AI4

ginclude <stdin,h=

int main) 4
int ten =10, two = 2, //53 & dHo 23] 2F Y
int get.
get = ten + two.

printf{"id + #d = #d #n", ten, two, get) fIE oo o =8

return 0.
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» GIAIS

{

ginclude <stdio.h=

int main{)

int num! =9, num? = 2

printf{"¥d + ¥d = £d #n", num?, num?, numl+nun?);
printf{"¥d - ¥d = #d #n", num?, num?, numl-num?);
printfl"id = &d = &d #n", numl, numZ, numl=num? )
printfi"¥d / ¥d=2l = &d #n", nomd, numZ, numl/num2);
printf{ #d / £d2 LHHA = 2d #n", numl, nue2, nomiinumd )
return 0.
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